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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot [’ ECopt’]

3500 7 —@— ECopt
3000 -
2500 -
2000 -
1500 -

1000

500 -

0 25 50 75 100 125 150 175



Plot Sensor and FgRec Data
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Plot [['setVlI ETcl’, 'setVI fgRec’,

"setVI_VN', ’slISetVI']]
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['PHC:b—0’, 'FVIPH:r—o', 'PHl:g—0o']]
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Plot [['FVOPH:r-o’, 'PHO:g—o’]]
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Trend plot forP3-14 0
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P3-14

BriE) | EBIATK (FD) | EBE (EH/EK) 5 ERR

08:05 288 150.0 fI| FHA@08:05 KRENFEFF (ARFAIEREE)
09:00 288 150.0 |  FHAe09:00 KENFEF (KAEREES)
10:10 288 150.0 M| FuHEAe10:10 KEIEF (KRAERES)
11:05 288 150.0 | FHA@11:05 KREFEF (RAERE)
12:00 288 150.0 M| FHBe12:00 KEIEF (RPERKE)
12:50 288 150.0 M| FiHAe12:50 KEIEF (KAEKES)
13:45 288 150.0 M| FuHA@13:45 KENIEF (KRPBEEEE)
14:40 288 150.0 M| iHfe14:40 KEIEF (KRAEEEE)
15:50 288 150.0 M| FHAe15:50 KHIEF (KBEES)
2it[2592.0 (9%) 1350. 0 32933 %EC: 2080.0, PH: 6.0

REREBIEC (2620.0) HiZEEC (2000.0) REK K, BHEE




FRV (ml plant-1)

ET (ml/hr/plant)
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